KONGSKILDE spare parts list  KONGSKILDE spare parts list

Listino di prezzi de ricambio
Lista de piezas de recambio
Liste de piece de rechange

Reservedelsliste | Model SRVF 209
Onderdelenlijst 211
Varaosaluettelo | 310
Reservdelslista | | - 313
Ersatzteilliste | S | 304
306

09

13

05 018 095 Printed in Denmark by Teknisk lllustration ApS Herning




SRVF 209/21 1 310/313 304 306/09 & 13 Type: SRVF 209 Type: SRVF 211 Type: SRVF 310 Type: SRVF 313 Type: KONGSKILDE
' Pack: 05013 003 Pack: 05014 002 Pack: 05015002 Pack: 05016 002 Pack: spare parts list
Type: SRVF 304 | Type: SRVF 306 l Type: SRVF 09 l Type: SRVF 13 I Type: I
Pack: 05017 000 Pack: 05017 011 Pack: 05019 000 Pack: 05 020 000 Pack: 1981.04
Fig. No. Pack No. Serial No. Part No. Pcs. Notes
1A 05018015 1 Type: SRVF 310/313/09 & 13
05018 007 1 Type: SRVF 209 & 211
2A 00 333 031 1 $10 x 56
3A 00 316 006 2 | Mi6
4A 03 010 049 1
5A 05018 079 1
6A 05015 028 2 | Type:SRVF 310
05018 082 2 | Type:SRVF 209/211/313 & 13
05019 030 2 | Type:SRVF 09
7A 00 306 061 1 M16 x 90
8A 03010 045 1
9A 03 000 063 1
10A 00 306 070 1 M20 x 100
11A 05018013 1
12A 00 316 007 1 M20
13A 00 333 014 2 | ¢9,5mm
14A 05018 002 1
15A 03010 040 2 | ¢19x85
16A 00 306 071 2 | M12x35
17A 00 306 058 1 M16 x 60
18A 05015 023 1 Type: SRVF 310
05018 072 1 Type: SRVF 209/211/313 & 13
05019 028 1 Type: SRVF 09
19A 05018 084 1
20A 05018 083 1
21A 00 306 046 4 | M12x50
23A 00 306 048 2 | M12x60
24A 00 316 005 8 | M2
26A 05018 027 2
27A 00 306 045 2 | M12x45
28A 05013 003 05013 006 1 Type: SRVF 209
05 014 002 05014 004 1 Type: SRVF 211
05015 002 05015 006 1 Type: SRVF 310
05016 002 05016 009 1 Type: SRVF 313
05 019 000 05019 001 1 Type: SRVF 09
05 020 000 05 020 001 1 Type:SRVF 13 -
29A 05016 017 1 Type: SRVF 211/313 & 13
30A 05016 018 1 Type: SRVF 211/313 & 13
31A 05013 003 05013012 1 Type: SRVF 209
05 014 002 05 014 008 1 Type: SRVF 211
05 015 002 05015012 1 Type: SRVF 310
05016 002 05016 016 1 Type: SRVF 313 °
05 019 000 05019012 1 Type: SRVF 09
05 020 000 05020010 1 Type: SRVF 13
32A 05 013 003 05013 011 1 Type: SRVF 209
05 014 002 05 014 007 1 Type: SRVF 211
05015 002 05015011 1 Type: SRVF 310
05016 002 05016 015 1 Type: SRVF 313 -
05 019 000 05019 009 1 Type: SRVF 09
05 020 000 05 020 007 1 Type: SRVF 13 -
CPL.AB 03 000 454 Fig. 33AB - 43AB Repair kit
42AB 00421 000 M6
36AB _]‘ 44B 05 017 000 05017 008 1 Type: SRVF 304
40AB 05017011 05017 022 1 Type: SRVF 306
45B 01010120 4
46B 00 333 003 4 | ¢4x25
478 05017 003 2
48B 05017 000 05017 004 1 Type: SRVF 304
05017 011 05017 014 1 Type: SRVF 306
49B 05 017 000 05017 005 1 Type: SRVF 304
05017 011 05017 015 1 Type: SRVF 306
50B 05 017 000 05017 007 1 Type: SRVF 304
05017 011 05017 017 1 Type: SRVF 306
51AB 00414 009

1:20

KONGSKILDE MASKINFABRIK A/S . DK-4180 SOR® . DANMARK



